A chord is a segment whose endpoints are on a circle.

A= o




Congruent Chords

Theorem 10-3 and the Converse

Theorem

If two chords in a circle or in
congruent circles are congruent, then
their central angles are congruent.

Converse

If two central angles in a circle or
in congruent circles are congruent,
then their chords are congruent.

PROOF: SEE EXERCISES 12 AND 13.

If... MN = PQ

Then... ~MTN = 2PTQ
N P

M Q

If... 2MTN = £PTQ
Then... VIN = PQ



Congruent Chords continuted

Theorem 10-4 and the Converse

Theorem if.. MN2PQ
If two arcs in a circle or in congruent Then... MIN = PQ
circles are congruent, then their p
chords are congruent. N
Converse
If two chords in a circle or in
congruent circles are congruent, then 0
their arcs are congruent. M

If... MN =~ PQ

PROOF: SEE EXAMPLE 2 AND EXAMPLE 2 TRYIT. . Then... MN = PQ



Theorem

If chords are equidistant from the center of a
circle or the centers of congruent circles, then
they are congruent.

If... SE > SF,

C

Then... AB = Z‘B

Converse

If chords in a circle or in congruent circles are
congruent, then they are equidistant from the
center or centers.

If... AB = CD,

A



Given the figure at the right. e

Estimateﬂa midpoint M on
segment AB and label that point.

Draw a line through O and M so that OM L AB.

What Three things happen?
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Suppose that a given circle has a radius of 6 inches.

What is the length of a chord that has ‘

a central angle of 115°? EEV &
Lin S 725 = ‘2{(; ,‘,A

x=C sins2s | ABTOIR

= S.0l

What is the measure of the arc of a /
chord that is 8 inches long? What s Y
the perpendicular distance from the
center of the circle to the chord?

dl'\' t.‘;""'___ (‘1

dL-Hb:'bff

T

A =ao
d=J=20 =aJs =<T177

L/

.



)CL"' L’-a_:c'-:_
¥=2J5
The perpendicular distance from the

center of the circle to a chord is 4
inches. What is the length of the
chord? What is the measure of its
central angle? AR = WS

MdAbe = qc’ bso

2/ _ x=2JS ~
11e
Cos6 = A
_1
Cos %) =&



Given RS = U_'F how can you find UT?

4 ’ Z.S'

X Fy T2 8. 8%

XErIL = >o.2S”
Y= 19.25
Y = > 17

LVT= 254



5.1n OP, mAB = 43, and AC = DF. Find DF.

6.In OP, mAB = 43, and AC = DF. Find
mAC .



7.1n OP, mAB = 43, and AC = DF.Find FH.

8.In OP, mAB = 43, and AC = DF. Find
mDE .



9.In OP, mAB = 43, and AC = DF. Find AC.

10. In ©P, mAB = 43, and AC = DF. Find
mDF .






